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PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
| mark the correct choice on your answer sheet.

I-  This evening's meeting is one in which important issues would be discussed; your
attendance is ----—----- .
1) obligatory 2) didactic 3) relevant 4) explicit

2-  After a long -----—-- - between the former hushand and wife over the custody of the child,
the court finally decided to grant the custody to the mother.
1) contradiction 2) cruelty 3) squabble 4} hesitation

3-  In Aupstralia, animals are reared on crop residue. Without the animals, these residues
would have to be ————-- by other means before another crop can be grown—often by
burning.
1) deprived of 2} disposed of 3) resorted to 4) alluded to

4-  Unable to ----—=-- the tyrannical rules and regulations at the hostel, young Vivian thought
of escaping in the dark of the night.
1) scold 2) acelaim 3) bear 4 treat

5 Why do some animals, such as humans, ---—-—-- to sleep, whereas others, such as elephants
and giraffes, stand?
1) require 2} snore 3) setup 4) lie down

6-  With sixtcen victories in a row, the Australian cricket tecam was looking quite unassailable,
but they were finally ----- -—- at the hands of the Indians.
1) dispersed 2) vanquished 3) confronted 4) disregarded

7-  The salesboy tried to persuade the old man to buy goods from him, but had to give up
when the old man told him —-------- that h¢ would not buy anything from him.
1) arbitrarily 2) haphazardly J)unequivocally  4) necessarily

%  But he had become ——----—- to the rush and whirr of missiles, and now paid no heed
whatever to them.
1) inured 2) rendered 3) constrained 4) affirmed

9-  The judge openly associated with racist organizations; nevertheless, he showed no
--- in his decisions during his career.

1) uniqueness 2) dexterity 3) gratitude 4) prejudice

10- 1 don't have any explanation for his -———--- behavior at last night's party, though I'm
sure that he is quite apologetic about it.
1) credible 2) resolute 3) distinet 4) bizarre

| PART B: Cloze Passage

| Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
| each space, Then mark the correct choice on your answer sheet.

Where do such creative sparks come from? How can we conjure them whenever we want?
And why can that be (11) —=-----—-- anyway? A complete understanding isn’t here vet,
(12) ---------- neuroscientists are already on the trail of (13) -------—--, They also have some
good news for each of us (14) —--meeeev o ignite those inventive fires. As it turns out,
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(15) ===-=----- our own muse may be easier than we think. especially if we learn to make a
habit of it.
11- 1) infernally difficult so to do 2) so infernally difficult to do
3) difficult infernally to do so 4) to do so infernally difficult
12- 1) in spite of 2) however 3) nonetheless 4) but
13- 1) where and how does creativity arise  2) creativity how and where it arises
3) where and how creativity arises 4) creativity does arise where and how
14- 1) who has ever struggled 2) struggled ever
3) have ever struggled 4) ever to struggle
15- 1) wetap 2) when we tap 3) and taps 4) tapping

PART C: Reading Comprehension

Directions: Kead the following passages and choose the best choice (1), (2}, (3) or (4). Then
mark it on your answer sheet.

PASSAGE I:

Conductivity is measured by placing platinum electrodes in scawater and measuring the
current that flows when there is a known voltage between the electrodes. The current
depends on conductivity, voltage, and volume¢ of seawater in the path between
electrodes. If the electrodes are in a tube of non-conducting glass, the volume of water
is accurately known, and the current is independent of other objects near the
conductivity cell. The best measurements of salinity from conductivity give salinity with
an accuracy of £0.005. Before conductivity ineasurements were widely used. salinity
was measured using chemical titration of the water sample with silver salts. The best
measurements of salinity from titration give salinity with an accuracy of £0.02)
Individual salinity measurements are calibrated using standard seawater. Long-term
studies of accuracy use data from measurements of deep water masses of known, stable
salinity. For example, Saunders (1986) noted that temperature is very accurately related
to salinity for a large volume of water contained in the deep basin of the northwest
Atlantic under the Mediterranean outflow. He used the consistency of measurements of
temperature and salinity made at many hydrographic stations in the area to estimate the
accuracy of temperature, salinity. and oxygen measurements. He concluded that the
most careful measurements made since 1970 have an accuracy of 0.005 for salinity and
0.005:C for temperature. The largest source of salinity error was the error in
determination ol the standard water used for calibrating the salinity measurements.

16- What does the first paragraph mainly discuss?
1) Measuring salinity through titration
2) Things measured through conductivity
3) Two ways of measuring salinity
4) Accuracy of salinity measurement
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17-

18-

20-

21-

22-

23-

24-

What do we understand from the first paragraph?

1) It is better to put the electrodes in a tube of non-conducting glass.

2) The volume of sea water in the path between electrodes is not significant.

3) It is not possible for the current to be independent of other objects near the
conductivity cell.

4) The measurement of salinity through conductivity is not very accurate.

What does the word “stable” in the second paragraph mean?

1) Uncertain 2) Unusual 3) Unnoticeable 4) Unchangeable
Saunders estimated the accuracy of all the following EXCEPT -—------- :
1) oxygen 2) volume 3) salinity 4) temperature

Which of the following is the word “determination™ in the second paragraph closest in
meaning to?
1) Organization 2) Production 3) Calculation 4) Operation

PASSAGE 2:

What drives the ocean currents? At first, we might answer, the winds. But if we think
more carefully about the question, we might not be so sure. 'We might notice. for
example, that strong currents, such as the North Equatorial Countercurrents in the
Atlantic and Pacific Ocean go upwind. Spanish navigators in the 16th century noticed
strong northward currents along the Florida coast that seemed to be unrelated to the
wind. How can this happen? And. why are strong currents found offshore of east coasts
but not offshore of west coasts?

Answers to the questions can be found in a series of three remarkable papers
published from 1947 to 1951) In the first, Harald Sverdrup (1947) showed that the
circulation in the upper kilometer or so of the ocean is directly related to the curl of the
wind stress if the Coriolis force varies with latitude. Henry Stommel (1948) showed that
the circulation in oceanic gyres is asyimetric also because the Coriolis force varies with
latitude. Finally. Walter Munk (1950) added eddy viscosity and estimated the circulation
of the upper lavers of the Pacific. Together the three oceanographers laid the foundations
for a modern theory of ocean circulation.

How many pieces ol evidence are presented in the first paragraph to show that winds are
not solely responsible for driving ocean currents?

1) One 2) Two 3) Three 4) Four
What does the second paragraph mainly discuss?

1) Key articles published on ocean circulation

2) Oceanograpliic achievements from1947 to 1951

3) Coriolis force

4) Foundations of a modern theory of ocean circulation

Which of the following oceans are mentioned in the passage?

1) The Atlantic and the Pacific 2) The Atlantic and the Indian
3) The Pacific and the Indian 4) The Pacific and the Arctic
What does the word “remarkable” in the second paragraph mean?

1) Popular 2) Flexible 3) Outstanding 4) Fruitful
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26-

27-

28-

29-

30-

According to the passage, which of the following researchers emphasized variation of the
Coriolis foree with latitude?

1) Walter Munk and Harald Sverdrup

2) Henry Stommel and Walter Munk

3) Henry Stommel and Harald Sverdrup

4) Matthias Tomczak and Harald Sverdrup

PASSAGE 3:

Tides have been so important for commerce and science for so many thousands of vears
that they have entered our everyday language through expressions like time and tide
wait for no one. Mariners have known for at least four thousand vears that tides are
related to the phase of the moon. The exact relationship. however, is hidden behind many
complicating factors, and some of the greatest scientific minds of the last four centuries
worked to understand, calculate, and predict tides. Galileo, Descartes, Kepler. Newton,
Euler, Bernoulli, Kant, Laplace. Airy, Lord Kelvin, Jeffrevs, Munk and many others
contributed. Some of the first computers were developed to compuie and predict tides.
Ferrel built a tide-predicting machine in 1880 that was used by the U.S. Coast Survey to
predict nineteen tidal constituents. In 1901, Harris extended the capacity to 37
constituents.

Despite all this work. important questions remained: What is the amplitude and phase
of the tides at any place on the ocean or along the coast? What is the speed and direction
of tidal currents? What is the shape of the tides on the ocean? Where is tidal energy
dissipated? Finding answers to these simple questions is difficult, and the first, accurate.
global maps of deep-sea tides were only published in 1994 (LeProvost et al. 1994). The
problem is hard because the tides are a self-gravitating, near-resonant. sloshing ol water
in a rotating, elastic, ocean basin with rndges. mountains, and submarine basins.
Predicting tides along coasts and at ports is much easier, though. Data from a tide gauge
plus the theory of tidal forcing gives an accurate description of tides near the tide gauge,

Which of the following questions is the passage mainly concerned with?

1) What is the shape of the tides on the ocean?

2) Where does tidal energy disappear?

3) What is the speed and direction of tidal currents?

4) How can we predict tides?

What does the word “they™ in line 2 refer to?

1) Tides 2) Lxpressions 3) Thousands 4) Years

Which of the following scientists has NOT been mentioned in the passage as a figure
interested in predicting tides?

1) Ferrel 2) Kepler 3) Bohr 4) Airy

Which of the fullowing words in the passage describes the moving around of a liguid in a
container?

1) Self-gravitating 2) Near-resonant  3) Sloshing 4) Elastic

According to the passage, where can predicting tides be much simpler?

1) Along coasts and on the oceans

2) Along coasts and at ports

3) At ports and on the oceans

4) At the bottom of seas and on the oceans
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